LB-30-2 01/02/2008
LB-30-2
Macca (HeTT0) 22.5 Kg
Buemnune Pazmepnl 380*280*320 mm*mm*mm




LB-30-2 01/02/2008
¥Y3ea nacoca LB-30-2
Koa HaumeHoBaHve AEDIERT | (ISP B
€MOCTb JeTanupoBke
4022230010 | bnok nopwHesou LB-30-2
11131005 |Bont wkusa M10x45 (JTeBOCTOPOHHMIA) 1 1
11124001 |LWanba ctonopHas NeBOCTOPOHHsS P8 1 2
21213002 |lanba 38 1 3
21212002 |Lkue $266,7 1 4
11131004 |Bont kpennenuns M8x25 4 5
11123003 |lpaBepHas wanba ¢8 20 6
21113003 |lMNepeaHsisi KpbilKa 1 7
21166003 |CanyH 1 8
21152001 |lNpoknagka nepeaHemn KpbILLKK 1 9
21161004 |CanbHuk 24*47*8 1 10
21134001 |MogwwunHuk 62052 1 11
21131003 |KoneHBan 1 12
21111009 |Kaptep 1 13
21169001 |lMpobka cnuea macna 1 14
21164002 |Macnoykasatenb 1 15
11131001 |BonTt kpenneHus Kpblwkn M6x20 3 16
11123002 |l'paBepHas wanba 6 3 17
21112003 |3agHsas Kpblwka 1 18
21155001 |lMpoknagka 3agHen KpblwKu 1 19
21134002 |MogwwmnHuk 6204 1 20
21162002 |Macnopasbpbl3rvBartenb 2 21
11133002 |BonTt macno pasbpbisrnearens M5x10 2 22
21132004 |WatyH 2 24
21167002 |lNpobka 3anuea macna 1 23
21141003 |MNopweHb P65 2 25
21144002 |CTtonopHoe komnbuo $14,7 4 26
21143002 |MNaney nopwHsa ©14,5x57,5 2 27
21145003 |Komnnekt koney 965 2 28
11141001 |Wnunbka M8x35 8 29
21153001 |Mpoknagka uunuHap — kaptep P65 2 30
11111002 |lanka M8 8 31
21121004 |UmnuHgp 965 2 32
21151002 |lNpoknagka 6roka knanaHoB HKHAS P65 2 33
21124003 |KnanaHHbIU 6510k 8 Komnekme P65 1 34
21154001 |lpoknagka 6noka knanaHoB BepxHSAs $65 2 35
11132004 |Bont Bo3gyLiHoro punbtpa M8x30 4 36
11122001 |MepgHas wanta ©8 4 37
21175002 |PunbTp BO3AYLIHbIV B cbope 2 38
11132006 |BonT Kpbllwkm 6noka unnuHgpos M8x50 8 39
21123003 |lonoBka unnuHapa 2 40
21174001 | TpOWHUK 1 41
11113001 |lanka ®14,5-27 1 42
21171002 |PaguaTtop 1 43
21173001 |YronbHuK 1 44
21125013 |llnacmuHbl KnanaHHbIe 8 Komrnnekme (2uim) 1 34/2
21126002 |AnomuHuegas npokiadka 1 34/3
21177012 |[1lampoH 8030ywHO20 ¢unbmpa 1 38/2




	LB-30-2

